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Химические свойства:
(1) 1.Горение CH4+2O2=CO2+2H20+Q 2. Разложение CH4=t>1500 C(сажа)+ 2H2 
3. 2CH4=t<1400C2H2+3H2 4.Взаимодействие с галогенами(F2 Cl2 Br2 I2) 

CH4+Cl2=свет СH3Cl(хлорметан)+HCl 
5. Получение: 1. Карбидный Al4C3(карбид)+12H2O=4Al(OH)3+3CH4 i
2.Р-я Кальбэ CH3COONa(ацетат натрия)+NaOH=t CH4+Na2CO3
3.Р-я Вюрца 2CH3Cl(хлор метан)+2Na=C2H6+2NaCl

(2) 1. Горение C2H4+3O2=2CO2+2H2O+Q 2.Окисление(KMnO4)C2H4+O+H2O=KMnO4 C2H4(OH)2(этиленглюколь)3.Р-я разложения CnH2n=t n C+nH2 I 4. Гидрирование C2H4+H2=t kat  C2H6(этан)C3H6+H2=C3H8 
5. Галоидирование C2H4+Cl2*aq=н.д.C2H4Cl2 ( дихлорэтан)

6.Гидрогалоидирование(HF HBr HCl HI) C2H4+HCl=C2H4Cl(хлорэтан)

C3H6+HBr=C3H7Br(2-Бром-пропан)
(3) 1.Гидрирование C2H2+H2=t,P kat C2H4+H2=C2H6 C2H2+2H2=C2H6
2.Галоидирование C2H2+Cl2=t,P kat C2H2Cl2(1,2-дихлор-этен)=C2H4Cl4(1,1,2,2-тетрахлорэтан) 3.Галоидирование С2H4+Cl2=t,P KAT C2H4Cl2=C2H2Cl4
3.Гидротация C2H2+H2O=tHg C2H3-OH(виниловый спирт) = C2H3=O-H(уксусный альдегид) 4.Гидрогалоидирование C2H2+HCl= H2C=CH-Cl(хлорэтен)

5.Тримеризация 3C2H2=t=650 C6H6(бензол) 6.Горение 2C2H2+5O2=4CO2+2H2O+Q 7. Кач. р-я C2H2+ Ag2O=NH2AgC=_CAg+H2O
(4) 1.Горение 2C6H6+15O2= 12CO2+6H2O+Q 2.В-е с Br2  C6H6+Br2=FeCl2 C6H5Br( бром бензол) +HBr 3.В-е с азотной кисл. C6H6+HNO3=C6H5-NO2(нитробензол) +H2O 4.В-е с галогенами C6H6+3Cl2= C6H6Cl6(1,2,3,4,5,6-циклогексан) 5.Гидрирование C6H6+3H2=t kat C6H12(циклогексан)
Получение: 1. Тримелизация ацитилена 3C2H2=t=650 C6H6 2.C6H12(циклогексан) =С6H6+3H2

Спирты: CH3OH(метанол) C2H5OH(этанол) C3H7OH(пропанол) C4H9OH(бутанол) C5H11OH(пентанол) 

Хим. св-ва: 1.C2H5OH+3O2=2CO2+3H2O+Q 2. 2C2H5OH+2Na=2C2H5ONa(этилат натрия) +H2 i  3.CH3-CH2OH=t=140 H2SO4 C2H4+H2O

 3. C2H5OH+HO-C2H5=t>150 Al2O3 C2H5-O-C2H5(диэтиловый эфир) +H2O 4. C2H4OH+CuO=t CH3-C=O_H(уксусный альдегид)+Cu+H2O
5.C2H5OH+HCl=C2H5Cl(хлорэтан)+H2O Получение: 1. C2H4+H2O=C2H5OH 2. C6H12O6(глюкоза)=дрожжи 2C2H5OH+2CO2 i 

Многоатомные спирты: CH2OH-CH2OH(этиленгликоль) CH2OH-CHOH-CH2OH(глицерин)
Хим. св-ва: 1. CH2OH-CH2OH+ 2Na=CH2ONa-CH2ONa(этиленглюколят натрия) +2H2 i 2. CH2OH-CH2OH +Cu(OH)2= CH2O-CH2O-Cu(этиленглюколят меди 2) + 2H2O 3. CH2OH-CHOH-CH2OH + HONO2-HONO2-HONO2= CH2ONO2-CHONO2-CH2ONO2 +3H2O
Фенолы:    Получение: C6H6=C6H5Cl=C6H5OH

(Фенол)    
(Хлорбензол) Хлорбензол +Na= t,P Фенол 




                Хим. св-ва: 1.2C6H5OH(фенол) +2Na=2C6H5Na(фенолят натрия) +H2 i 2.C6H5OH+ NaOH= C6H5ONa +H2O


                       3. Фенол +3Br2= C6H3Br3+ 3HBr 4. Фенол + 3HONO2= H2SO4 C6H2(N02)2OH+3H2O
Альдегиды: H-C=O_H(метаналь) CH3-C=O_H(этаналь) C2H5-C=O_H(пропональ) C3H7-C=O_H(бутональ) C4H9-C=O_H (пентаналь)
Хим. св-ва: 1. метаналь + Ag2O= t NH3 H-C=O_H(муравьиная Кис-та) 2. R-C=O_H(альдегид)+2Сг(OH)2! =t R-C=O_OH(карбиновая к-та) +2CuOH

3. метаналь +H2=CH3OH(метанол) 4.фенол +СH2OH(формальдегид)=C6H4OH-CH2OH(фенолфориальдегид) 

Получение: 1. C2H2+H2O=t Hg CH3-C=O_H(уксусный альдегид) 2. R-CH2-OH(спирт) +CuO= t R-C=O_H(альдегид) 3. CH4 +O2=t kat H-C+O_H(мета.)+H2O

Карбоновые кис-ты: H-C=O_OH(муравьиная) CH3-C=O_OH(уксусная) CH3-CH2-C=O-OH(пропионовая) CH3-CH2-CH2-C=O_OH(масляная) CH3-(CH2)3-C=O-OH(валериановая) CH3-(CH2)4-C=O_OH(капроновая) CH3-(CH2)5-C=O-OH(этановая) CH3-(CH2)14-C+O-OH(пальмитиновая) CH3-(CH2)16-C=O_OH(стеариновая)
Хим. св-ва: 1. H-C=O_OH(мурав.)=HCOO- +H+ (соли нитраты) 1.1 CH3COOH(уксусн.)=CH3COO- + H+ соли ацетаты 2. 2HCOOH+ 2Na=2HCOONa(формиат натрия) +H2 i  3. 2HCOOH+BaO=(HCOO)2Ba(формиат бария) + H2O 4. 3CH3COOH+ Al(OH)3=(CH3COO)3Al(ацетат алюминия) +3H2O 

5. 2HCOOH+CaCO3=(HCOO)2Ca +H2O+CO2 i 6. CH3COOH +HO-C2H5=t H2SO4 CH3COOC2H5(этил-ацетат) +H2O 
Глюкоза:C6H12O6      Получение: 1. 6CO2+ 6H2O=h, v,хлорофилл C6H12O6 +6O2—Q 

Хим. св-ва: 1. C6H12O6 +O2=CO2+H2O+Q 2.C6H12O6+Cu(OH)2=                                    (глюконат меди 2) +2H2O 3. CH2OH-(CHOH)4-C=O_H +Cu(OH)2=t CH2OH-(CHOH)4-C=O_OH (глюконовая кислота)+2CuOH +H2O                                                 4.Глюкоза +Ag2O=t NH3 CH2OH-(CHOH)4-C=O_OH+2Ag!
5. Глюкоза+ H2=t kat CH2OH-(CHOH)4-CH2OH(сорбит)                                                 6.C6H12O6= 2C2H5OH+2CO2 i 7.C6H12O6=NaCl 2CH3-CH-C=O_H(мол.                                  
                                  кислота) 
